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1 mouth 2 nose
3 ears 4 teeth
5 eyes 6 feet
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They're Hedgehog’s eyes.
It’s Hare’s nose.

They’re Masha’s feet.
They're Bear’s ears.

It's Masha’s mouth.
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It was a nice, quiet day.

“Bear, we're hungry,” said Masha. “What
can we eat?”

Bear was not happy. He wanted to play

his game.

“Yuck! I don’t like Bear’s old porridge,” she
said. “Let’s cook some new porridge!”
Masha put some hot water in a very big pot.
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Audio script

It was a nice, quiet day.

Bear was in his living room.

He wanted to play a game.

Then, Masha and Hare came to Bear’s
house.

“Bear, we're hungry,” said Masha.
“What can we eat?”
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Bear, Hedgehog
jam, porridge
bowl, pot
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When
Why
Who
What
Where
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1 Hedgehog 1 a She is hungry.

2 Squirrel 2 a Itisclean.

3 Wolves 3 c¢ He is coming home.

4 Hare 4 b There are two of them.
5 Bear
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Audio script

1 What can you see in the picture? Bowls
of porridge.

2 How many are there? There are lots.

3 Who is sitting under the tree?
The Wolves.

4 Why are they there? Because they ate
too much porridge.

5 Who did Masha give porridge to? To
Hedgehog, Squirrel, and the Wolves, too.

6 What’s the matter with them? They are
all very fat!

Bowls of porridge.

There are lots.

The Wolves.

Because they ate too much porridge.
To Hedgehog, Squirrel, and the
Wolves, too.

6 They are dll very fat!
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Reader's own answers
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1 There is a girl sitting in the kitchen.

2 There are two books on the chair.

3 There isn’t any porridge in the bowl.

4 There aren’t any animals in the room.
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